

Provided for non-commercial research and educational use.  
Not for reproduction, distribution or commercial use.

# Mathematica Balkanica

Mathematical Society of South-Eastern Europe  
A quarterly published by  
the Bulgarian Academy of Sciences – National Committee for Mathematics

---

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal  
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;  
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria  
Phone: +359-2-979-6311, Fax: +359-2-870-7273,  
E-mail: [balmat@bas.bg](mailto:balmat@bas.bg)

## Some Extensions of a Problem of Biehler and Hermite

*Todor Stoyanov*

*Presented by V. Kiryakova*

A starting point for this article is the famous theorem of Biehler and Hermite: Let  $f(z) = \sum_{k=0}^n a_k z^k$ , where  $a_k = \alpha_k + i\beta_k$ ,  $\alpha_k, \beta_k \in \mathbf{R}$  and  $u(z) = \sum_{k=0}^n \alpha_k z^k$ ,  $v(z) = \sum_{k=0}^n \beta_k z^k$ . If the zeros  $z_k$  of  $f$  satisfy  $\operatorname{Im} z_k > 0$  ( $k = 1, 2, \dots, n$ ), then all the zeros of  $u(z)$  and  $v(z)$  are real.

All the considered functions are of finite genre. We localize the zeros of  $g_1 = [u^2(z) + v^2(z)]' = 2[u(z)u'(z) + v(z)v'(z)]$  and  $g_2 = \left\{ \operatorname{Log} \left[ \frac{u(z)}{v(z)} \right] \right\}' = \frac{u'(z)}{u(z)} - \frac{v'(z)}{v(z)}$ .

Under the conditions of Theorem 2 and Theorem 3, we localize the nonreal zeros of  $g_1$  and  $g_2$  in the circles which are similar to the Jensen circles for polynomials. A similar result is obtained for the real entire functions in [4].

Further: all the sequences  $\{z_k\}_{k=1}^{\infty}$  will satisfy  $\lim_{k \rightarrow \infty} |z_k| = \infty$  and the Maclaurin series of  $f$  is  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ , where  $a_k = \alpha_k + i\beta_k$ ,  $\alpha_k, \beta_k \in \mathbf{R}$  and  $u(z) = \sum_{k=0}^{\infty} \alpha_k z^k$ ,  $v(z) = \sum_{k=0}^{\infty} \beta_k z^k$ .

*AMS Subj. Classification:* 30D20, 30C15

*Key Words:* entire functions, zeros of analytic functions, Biehler - Hermite theorem

\*

**Theorem 1.** *Let*

$$f(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E\left(\frac{z}{z_k}\right)$$

*be an entire function, where  $m$  is a positive integer,  $\operatorname{Re} a \geq 0$ ,  $\operatorname{Re} b \leq 0$ ,  $\operatorname{Re} c \geq 0$ , and the Weierstrass factors are:*

$$E(\zeta) = (1 - \zeta) \exp\left(\zeta + \frac{\zeta^2}{2} + \dots + \frac{\zeta^m}{m}\right).$$

Let all the zeros  $z_k$  of  $f(z)$  satisfy  $\varphi_k = \arg(z_k) \in (-\frac{\pi}{2m+2}, \frac{\pi}{2m+2})$ . Then all the roots  $z$  of  $g_1(z) = [u^2(z) + v^2(z)]' = 2[u(z)u'(z) + v(z)v'(z)]$  satisfy  $\operatorname{Re}(z) \geq 0$ .

*Proof.* We have

$$f(z) = u(z) + iv(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E\left(\frac{z}{z_k}\right).$$

Let  $z_0$  be such that  $g_1(z_0) = 0$ . Then  $u(z_0)u'(z_0) + v(z_0)v'(z_0) = 0$ , and therefore

$$\frac{u'(z_0) + iv'(z_0)}{u(z_0) + iv(z_0)} = -\frac{u'(z_0) - iv'(z_0)}{u(z_0) - iv(z_0)}, \quad \text{i.e.} \quad \frac{f'(z_0)}{f(z_0)} = -\frac{\overline{f'(z_0)}}{\overline{f(z_0)}}.$$

We denote  $z_0 = x + iy$ , where  $x, y \in \mathbf{R}$ , supposing that  $\operatorname{Re}(z_0) = x < 0$ .

Then

$$A = \frac{f'(z_0)}{f(z_0)} + \frac{\overline{f'(z_0)}}{\overline{f(z_0)}} = 0, \quad \text{i.e.}$$

$$A = m(c + \bar{c})z_0 + (m+1)(b + \bar{b})z_0 + (m+2)(a + \bar{a})z_0$$

$$\begin{aligned} &+ \sum_{k=1}^{\infty} \left( \frac{1}{z_0 - z_k} + \frac{1}{z_k} + \dots + \frac{z_0^{m-1}}{z_k^m} \right) + \sum_{k=1}^{\infty} \left( \frac{1}{z_0 - \bar{z}_k} + \frac{1}{\bar{z}_k} + \dots + \frac{z_0^{m-1}}{\bar{z}_k^m} \right) \\ &= \frac{2m\operatorname{Re}(c)z_0^m\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Re}(b)z_0^m + 2(m+2)\operatorname{Re}(a)z_0^m z_0 + \sum_{k=1}^{\infty} \frac{\left(\frac{z_0}{z_k}\right)^m}{z_0 - z_k} + \sum_{k=1}^{\infty} \frac{\left(\frac{z_0}{\bar{z}_k}\right)^m}{z_0 - \bar{z}_k} \\ &= z_0^m \left[ \frac{2m\operatorname{Re}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Re}(b) + 2(m+2)\operatorname{Re}(a)z_0 \right. \\ &\quad \left. + \sum_{k=1}^{\infty} \frac{\overline{z_0 - z_k}}{z_k^m |z_0 - z_k|^2} + \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2} \right] = 0. \end{aligned}$$

Let

$$\begin{aligned} B &= \frac{2m\operatorname{Re}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Re}(b) + 2(m+2)\operatorname{Re}(a)z_0 \\ &\quad + \sum_{k=1}^{\infty} \frac{\overline{z_0 - z_k}}{z_k^m |z_0 - z_k|^2} + \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2}, \end{aligned}$$

$z_k = x_k + iy_k$ ,  $\bar{z}_k = x_k - iy_k$ , where  $x_k, y_k \in \mathbf{R}$ .

Then,

$$\begin{aligned} C &= B - \left[ \frac{2m\operatorname{Re}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Re}(b) + 2(m+2)\operatorname{Re}(a)z_0 \right] \\ &= \sum_{k=1}^{\infty} \frac{\bar{z}_0 - \bar{z}_k}{z_k^m |z_0 - z_k|^2} + \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2} \\ &= \sum_{k=1}^{\infty} \frac{\bar{z}_k^m |z_0 - \bar{z}_k|^2 (\bar{z}_0 - z_k) + z_k^m |z_0 - z_k|^2 (\bar{z}_0 - \bar{z}_k)}{D_k}, \end{aligned}$$

where  $D_k = |z_0 - \bar{z}_k|^2 |z_k^m|^2 |z_0 - z_k|^2$

Let  $r = x - x_k$ ,  $q = y - y_k$ ,  $s = y + y_k$ ,  $z_k = p_k (\cos \varphi_k + i \sin \varphi_k)$ ,

$$\begin{aligned} \Delta_k &= \frac{\bar{z}_k^m |z_0 - \bar{z}_k|^2 (\bar{z}_0 - z_k) + z_k^m |z_0 - z_k|^2 (\bar{z}_0 - \bar{z}_k)}{p_k^m} \\ &= [\cos(m\varphi_k) - i \sin(m\varphi_k)] (r - iq) (r^2 + s^2) \\ &\quad + [\cos(m\varphi_k) + i \sin(m\varphi_k)] (r - is) (r^2 + q^2). \end{aligned}$$

Then,

$$\begin{aligned} \operatorname{Re} \Delta_k &= [r \cos(m\varphi_k) - q \sin(m\varphi_k)] (r^2 + s^2) + [r \cos(m\varphi_k) + s \sin(m\varphi_k)] (r^2 + q^2) \\ &= r \cos(m\varphi_k) (2r^2 + s^2 + q^2) + \sin(m\varphi_k) (r^2 s + q^2 s - r^2 q - s^2 q) \\ &= 2r \cos(m\varphi_k) (r^2 + y^2 + y_k^2) + 2y_k \sin(m\varphi_k) (r^2 - y^2 + y_k^2) \\ &= 2 (r^2 + y_k^2) [r \cos(m\varphi_k) + y_k \sin(m\varphi_k)] + 2y^2 [r \cos(m\varphi_k) - y_k \sin(m\varphi_k)]. \end{aligned}$$

Since, by assumption,  $\varphi_k \in (-\frac{\pi}{2m+2}, \frac{\pi}{2m+2})$ , we have  $\cos(m\varphi_k) > 0$ , and if we assume that  $r \cos(m\varphi_k) - y_k \sin(m\varphi_k) \geq 0$ , then

$$(x_k - x) \cos(m\varphi_k) + y_k \sin(m\varphi_k) \leq 0.$$

Since  $x < 0$ ,  $x_k = p_k \cos \varphi_k$  and  $y_k = p_k \sin \varphi_k$ , we obtain:

$$x_k \cos(m\varphi_k) + y_k \sin(m\varphi_k) \leq 0, \quad \text{or} \quad \cos \varphi_k \cos(m\varphi_k) + \sin \varphi_k \sin(m\varphi_k) \leq 0,$$

i.e.  $\cos[(m-1)\varphi_k] \leq 0$ , which is impossible since  $\varphi_k \in (-\frac{\pi}{2m+2}, \frac{\pi}{2m+2})$ . Therefore,  $r \cos(m\varphi_k) - y_k \sin(m\varphi_k) < 0$ . If we assume that  $r \cos(m\varphi_k) + y_k \sin(m\varphi_k) \geq 0$ , then by the same way we obtain  $\cos[(m+1)\varphi_k] \leq 0$  which is impossible since  $\varphi_k \in (-\frac{\pi}{2m+2}, \frac{\pi}{2m+2})$ . Therefore,  $r \cos(m\varphi_k) + y_k \sin(m\varphi_k) < 0$  and  $\operatorname{Re} \Delta_k < 0$ , i.e.  $\operatorname{Re} B < 0$ , because  $\operatorname{Re} a \geq 0$ ,  $\operatorname{Re} b \leq 0$ ,  $\operatorname{Re} c \geq 0$ . But  $A = z_0^m B = 0$ , i.e.  $B = 0$ . This contradiction completes the proof. ■

**Theorem 2.** Let  $f(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E(\frac{z}{z_k})$  be an entire function, where  $m$  is a positive integer,  $\operatorname{Im} a \geq 0$ ,  $\operatorname{Im} c \leq 0$  and all the zeros  $z_k$  of  $f(z)$  satisfy  $\varphi_k = \arg(z_k) \in (0, \frac{\pi}{m})$ . Let  $V_k$  be the disk:

$$V_k = \left\{ |z - \operatorname{Re} z_k| \leq |\operatorname{Im} z_k| \frac{1 + |\cos(m\varphi_k)|}{\sin(m\varphi_k)} \right\},$$

and let  $M = \cup_{k=1}^{\infty} V_k$ . Then all nonreal roots  $z$  of

$$g_2(z) = \left[ \log \frac{u(z)}{v(z)} \right]' = \frac{u'(z)}{u(z)} - \frac{v'(z)}{v(z)}$$

are in  $M$ .

**Proof.** We have

$$f(z) = u(z) + iv(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E(\frac{z}{z_k}).$$

Let  $z_0$  be such that  $g_2(z_0) = 0$ . Then  $\frac{u'(z_0)}{u(z_0)} - \frac{v'(z_0)}{v(z_0)} = 0$ , and therefore

$$\frac{u'(z_0) + iv'(z_0)}{u(z_0) + iv(z_0)} = \frac{u'(z_0) - iv'(z_0)}{u(z_0) - iv(z_0)}, \quad \text{i.e.} \quad \frac{f'(z_0)}{f(z_0)} = \frac{\overline{f'(z_0)}}{\overline{f(z_0)}}.$$

We denote  $z_0 = x + iy$ , where  $x, y \in \mathbf{R}$ , supposing that  $z_0 \notin M$ . Then

$$A = \frac{f'(z_0)}{f(z_0)} - \frac{\overline{f'(z_0)}}{\overline{f(z_0)}} = 0,$$

i.e.  $z_k = x_k + iy_k$ ,  $\overline{z_k} = x_k - iy_k$ , where  $x_k, y_k \in \mathbf{R}$ . Then

$$\begin{aligned} A &= m(c - \bar{c})z_0^{m-1} + (m+1)(b - \bar{b})z_0^m + (m+2)(a - \bar{a})z_0^{m+1} \\ &+ \sum_{k=1}^{\infty} \left( \frac{1}{z_0 - z_k} + \frac{1}{z_k} + \dots + \frac{z_0^{m-1}}{z_k^m} \right) - \sum_{k=1}^{\infty} \left( \frac{1}{z_0 - \bar{z}_k} + \frac{1}{\bar{z}_k} + \dots + \frac{z_0^{m-1}}{\bar{z}_k^m} \right) \end{aligned}$$

$$\begin{aligned}
&= \frac{2m\operatorname{Im}(c)z_0^m\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Im}(b)z_0^m + 2(m+2)\operatorname{Im}(a)z_0^m z_0 \\
&\quad + \sum_{k=1}^{\infty} \frac{\left(\frac{z_0}{z_k}\right)^m}{z_0 - z_k} - \sum_{k=1}^{\infty} \frac{\left(\frac{z_0}{\bar{z}_k}\right)^m}{z_0 - \bar{z}_k} \\
&= z_0^m \left[ \frac{2m\operatorname{Im}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Im}(b) + 2(m+2)\operatorname{Im}(a)z_0 \right. \\
&\quad \left. + \sum_{k=1}^{\infty} \frac{\overline{z_0 - z_k}}{z_k^m |z_0 - z_k|^2} - \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2} \right] = 0.
\end{aligned}$$

Let

$$\begin{aligned}
B &= \frac{2m\operatorname{Im}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Im}(b) + 2(m+2)\operatorname{Im}(a)z_0 \\
&\quad + \sum_{k=1}^{\infty} \frac{\overline{z_0 - z_k}}{z_k^m |z_0 - z_k|^2} - \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2},
\end{aligned}$$

$z_k = x_k + iy_k$ ,  $\bar{z}_k = x_k - iy_k$ , where  $x_k, y_k \in \mathbf{R}$ . Then

$$\begin{aligned}
C &= B - \left[ \frac{2m\operatorname{Im}(c)\bar{z}_0}{|z_0|^2} + 2(m+1)\operatorname{Im}(b) + 2(m+2)\operatorname{Im}(a)z_0 \right] \\
&= \sum_{k=1}^{\infty} \frac{\overline{z_0 - z_k}}{z_k^m |z_0 - z_k|^2} - \sum_{k=1}^{\infty} \frac{\bar{z}_0 - z_k}{\bar{z}_k^m |z_0 - \bar{z}_k|^2} \\
&= \sum_{k=1}^{\infty} \frac{\bar{z}_k^m |z_0 - \bar{z}_k|^2 (\overline{z_0 - z_k}) - z_k^m |z_0 - z_k|^2 (\bar{z}_0 - z_k)}{D_k},
\end{aligned}$$

where  $D_k = |z_0 - \bar{z}_k|^2 |z_k^m|^2 |z_0 - z_k|^2$ . If we put  $r = x - x_k$ ,  $q = y - y_k$ ,  $s = y + y_k$ ,  $z_k = p_k (\cos \varphi_k + i \sin \varphi_k)$ , then as in Theorem 1, we obtain

$$\begin{aligned}
\Delta_k &= \frac{\bar{z}_k^m |z_0 - \bar{z}_k|^2 (\overline{z_0 - z_k}) - z_k^m |z_0 - z_k|^2 (\bar{z}_0 - z_k)}{p_k^m} \\
&= [\cos(m\varphi_k) - i \sin(m\varphi_k)] (r - iq) (r^2 + s^2) \\
&\quad - [\cos(m\varphi_k) + i \sin(m\varphi_k)] (r - is) (r^2 + q^2).
\end{aligned}$$

Thus,

$$\operatorname{Re} \Delta_k = [r \cos(m\varphi_k) - q \sin(m\varphi_k)] (r^2 + s^2) - [r \cos(m\varphi_k) + s \sin(m\varphi_k)]$$

$$\begin{aligned} \times (r^2 + q^2) &= 4yy_k r \cos(m\varphi_k) - 2y(r^2 + y^2 - y_k^2) \sin(m\varphi_k) \\ &= 2y [2y_k r \cos(m\varphi_k) - (r^2 + y^2 - y_k^2) \sin(m\varphi_k)]. \end{aligned}$$

Let  $C_k = (r^2 + y^2 - y_k^2) \sin(m\varphi_k) - 2y_k r \cos(m\varphi_k)$  and  $R = |z_0 - \operatorname{Re} z_k|$ , so that  $r^2 + y^2 = R^2$ , and therefore  $r = \varepsilon \sqrt{R^2 - y^2}$ , where  $\varepsilon = \pm 1$ . We have

$$\begin{aligned} C_k &\geq (R^2 - y_k^2) \sin(m\varphi_k) - 2 |y_k| |R| \cos(m\varphi_k) \\ &= \sin(m\varphi_k) R^2 - 2 |y_k| |\cos(m\varphi_k)| R - \sin(m\varphi_k) y_k^2 \\ &= \sin(m\varphi_k) (R - R_1)(R - R_2), \end{aligned}$$

where  $R_1 = |y_k| \frac{|\cos(m\varphi_k)| - 1}{\sin(m\varphi_k)}$ ,  $R_2 = |y_k| \frac{|\cos(m\varphi_k)| + 1}{\sin(m\varphi_k)}$ . Since  $\varphi_k = \arg(z_k) \in (0, \frac{\pi}{m})$ , we have that  $\cos(m\varphi_k) > 0$ . If  $R > |\operatorname{Im} z_k| \frac{1 + |\cos(m\varphi_k)|}{\sin(m\varphi_k)}$ , then we obtain that  $C_k > 0$  ( $k = 1, 2, \dots$ ). Hence  $\operatorname{Re} \Delta_k = -2yC_k < 0$ , i.e.  $\operatorname{Re} B < 0$ , since  $\operatorname{Im} a \geq 0$  and  $\operatorname{Im} c \leq 0$ . But  $A = z_0^m B = 0$ , i.e.  $B = 0$ . This contradiction proves the theorem.  $\blacksquare$

**Theorem 3.** Let  $f(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E(\frac{z}{z_k})$  be an entire function, where  $m$  is a positive integer,  $\operatorname{Re} a \leq 0$ ,  $\operatorname{Re} c \geq 0$ , and all the zeros  $z$  of  $f(z)$  satisfy  $\varphi_k = \arg(z_k) \in (-\frac{\pi}{2m}, \frac{\pi}{2m})$ . Let  $V_k$  be the disk:

$$V_k = \left\{ |z - \operatorname{Re} z_k| \leq |\operatorname{Im} z_k| \frac{1 + |\sin(m\varphi_k)|}{\cos(m\varphi_k)} \right\}, \quad \text{and let } M = \bigcup_{k=1}^{\infty} V_k.$$

Then all nonreal roots  $z$  of  $g_1(z) = [u^2(z) + v^2(z)]' = 2[u(z)u'(z) + v(z)v'(z)]$  are in  $M$ .

**Proof.** We have

$$f(z) = u(z) + iv(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E(\frac{z}{z_k}).$$

Let  $z_0$  be such that  $g_1(z_0) = 0$  and  $z_0 \notin M$ . Then  $u(z_0)u'(z_0) + v(z_0)v'(z_0) = 0$ , and therefore

$$\frac{u'(z_0) + iv'(z_0)}{u(z_0) + iv(z_0)} = -\frac{u'(z_0) - iv'(z_0)}{u(z_0) - iv(z_0)}, \quad \text{i.e. } \frac{f'(z_0)}{f(z_0)} = -\frac{\overline{f'(z_0)}}{\overline{f(z_0)}}.$$

The same expression was obtained in Theorem 1. With the above denotations, after some computations we consider

$$\begin{aligned}\Delta_k &= \frac{\overline{z_k}^m |z_0 - \overline{z_k}|^2 (\overline{z_0 - z_k}) + z_k^m |z_0 - z_k|^2 (\overline{z_0 - z_k})}{p_k^m} \\ &= [\cos(m\varphi_k) - i \sin(m\varphi_k)](r - iq)(r^2 + s^2) \\ &\quad + [\cos(m\varphi_k) + i \sin(m\varphi_k)](r - is)(r^2 + q^2).\end{aligned}$$

Then,

$$\begin{aligned}-\operatorname{Im}\Delta_k &= [q \cos(m\varphi_k) + r \sin(m\varphi_k)](r^2 + s^2) \\ &\quad + [s \cos(m\varphi_k) - r \sin(m\varphi_k)](r^2 + q^2) \\ &= 2y(r^2 + y^2 - y_k^2) \cos(m\varphi_k) + 4yy_k r \sin(m\varphi_k).\end{aligned}$$

Let  $C_k = (r^2 + y^2 - y_k^2) \cos(m\varphi_k) + 2y_k r \sin(m\varphi_k)$  and  $R = |z_0 - \operatorname{Re}z_k|$ , so that  $r^2 + y^2 = R^2$ , and therefore,  $r = \varepsilon \sqrt{R^2 - y^2}$ , where  $\varepsilon = \pm 1$ . We have

$$\begin{aligned}C_k &\geq (R^2 - y_k^2) \cos(m\varphi_k) - 2|y_k| |R| |\sin(m\varphi_k)| \\ &= \cos(m\varphi_k) R^2 - 2|y_k| |\sin(m\varphi_k)| R - \cos(m\varphi_k) y_k^2 \\ &= \cos(m\varphi_k) (R - R_1)(R - R_2),\end{aligned}$$

where  $R_1 = |y_k| \frac{|\sin(m\varphi_k)| - 1}{\cos(m\varphi_k)}$ ,  $R_2 = |y_k| \frac{|\sin(m\varphi_k)| + 1}{\cos(m\varphi_k)}$ . Since  $\varphi_k = \arg(z_k) \in (-\frac{\pi}{2m}, \frac{\pi}{2m})$ ,  $z_0 \notin M$ , we have that  $\cos(m\varphi_k) > 0$  and  $R > |\operatorname{Im}z_k| \frac{1 + |\sin(m\varphi_k)|}{\cos(m\varphi_k)}$ . Then we obtain that  $C_k > 0$  ( $k = 1, 2, \dots$ ). Hence,  $\operatorname{Im}\Delta_k = -2yC_k < 0$ , i.e.  $\operatorname{Im}B < 0$ , since  $\operatorname{Re}a \leq 0$  and  $\operatorname{Re}c \geq 0$ . But  $A = z_0^m B = 0$ , i.e.  $B = 0$ . This contradiction proves the theorem. ■

**Theorem 4.** Let  $f(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E(\frac{z}{z_k})$  be an entire function, where  $m$  is a positive integer,  $\operatorname{Im}a \leq 0$ ,  $\operatorname{Im}b \geq 0$ ,  $\operatorname{Im}c \leq 0$ . Let all the zeros  $z$  of  $f(z)$  satisfy  $\varphi_k = \arg(z_k) \in (0, \frac{\pi}{m+1})$ . Then all the roots  $z$  of  $g_2(z) = \left[ \log \frac{u(z)}{v(z)} \right]' = \frac{u'(z)}{u(z)} - \frac{v'(z)}{v(z)}$  satisfy  $\operatorname{Re}(z) \geq 0$ .

**Proof.** We have

$$f(z) = u(z) + iv(z) = \exp(d + cz^m + bz^{m+1} + az^{m+2}) \prod_{k=1}^{\infty} E\left(\frac{z}{z_k}\right).$$



Let  $z_0$  be such that  $g_2(z_0) = 0$ . Then,  $\frac{u'(z_0)}{u(z_0)} - \frac{v'(z_0)}{v(z_0)} = 0$ , and therefore

$$\frac{u'(z_0) + iv'(z_0)}{u(z_0) + iv(z_0)} = \frac{u'(z_0) - iv'(z_0)}{u(z_0) - iv(z_0)}, \quad \text{i.e.} \quad \frac{f'(z_0)}{f(z_0)} = \frac{\overline{f'(z_0)}}{\overline{f(z_0)}}.$$

We denote  $z_0 = x + iy$ , where  $x, y \in \mathbf{R}$  supposing that  $\operatorname{Re} z_0 = x < 0$ . Then

$$A = \frac{f'(z_0)}{f(z_0)} - \frac{\overline{f'(z_0)}}{\overline{f(z_0)}} = 0.$$

The same expression was obtained in Theorem 2. We will consider

$$\begin{aligned} \Delta_k &= \frac{\overline{z}_k^m |z_0 - \overline{z}_k|^2 (\overline{z_0 - z_k}) - z_k^m |z_0 - z_k|^2 (\overline{z_0} - z_k)}{p_k^m} \\ &= [\cos(m\varphi_k) - i \sin(m\varphi_k)] (r - iq) (r^2 + s^2) \\ &\quad - [\cos(m\varphi_k) + i \sin(m\varphi_k)] (r - is) (r^2 + q^2). \end{aligned}$$

Thus,

$$\begin{aligned} -\operatorname{Im} \Delta_k &= [r \sin(m\varphi_k) + q \cos(m\varphi_k)] (r^2 + s^2) \\ &\quad - [s \cos(m\varphi_k) - r \sin(m\varphi_k)] (r^2 + q^2) \\ &= 2r(r^2 + y^2 + y_k^2) \sin(m\varphi_k) - 2y_k(r^2 - y^2 + y_k^2) \cos(m\varphi_k) \\ &= 2(r^2 + y_k^2) [r \sin(m\varphi_k) - y_k \cos(m\varphi_k)] + 2y^2 [r \sin(m\varphi_k) + y_k \cos(m\varphi_k)]. \end{aligned}$$

Since by assumption,  $\varphi_k \in (0, \frac{\pi}{m+1})$  we have  $\sin(m\varphi_k) > 0$ , and if we assume that  $r \sin(m\varphi_k) - y_k \cos(m\varphi_k) \geq 0$ , then  $(x_k - x) \sin(m\varphi_k) + y_k \cos(m\varphi_k) \leq 0$ .

Since  $x < 0$ ,  $x_k = p_k \cos \varphi_k$  and  $y_k = p_k \sin \varphi_k$ , we obtain

$$x_k \sin(m\varphi_k) + y_k \cos(m\varphi_k) \leq 0, \quad \text{or} \quad \cos \varphi_k \sin(m\varphi_k) + \sin \varphi_k \cos(m\varphi_k) \leq 0,$$

i.e.  $\sin[(m+1)\varphi_k] \leq 0$ , which is impossible since  $\varphi_k \in (0, \frac{\pi}{m+1})$ . Therefore

$$r \cos(m\varphi_k) - y_k \sin(m\varphi_k) < 0.$$

If we assume that  $r \sin(m\varphi_k) + y_k \cos(m\varphi_k) \geq 0$ , then in the same way we obtain  $\sin[(m-1)\varphi_k] \leq 0$  which is impossible since  $\varphi_k \in (0, \frac{\pi}{m+1})$ . Therefore

$$r \sin(m\varphi_k) + y_k \cos(m\varphi_k) < 0 \quad \text{and} \quad \operatorname{Im} \Delta_k > 0,$$

i.e.  $\operatorname{Im} B > 0$ , because  $\operatorname{Im} a \leq 0$ ,  $\operatorname{Im} b \geq 0$ ,  $\operatorname{Im} c \leq 0$ . But  $A = z_0^m B = 0$ , i.e.  $B = 0$ . This contradiction completes the proof. ■

### References

- [1] G. P o l y a, G. S z e g o, *Problems and Theorems in Analysis*, 1 (In Bulgarian). Nauka i Izkustvo, Sofia (1973).
- [2] M. A. T i t c h m a r s h, *Theory of Functions* (In Russian). Nauka, Moscow (1980).
- [3] T. S t o y a n o v, Some extensions of Rolle's and Gauss-Lucas theorems. In: *Transform Methods & Special Functions, Varna'96 (Proc. 2nd Int. Workshop, August 23-30, 1996)*, Ed-s: P. Rusev, I. Dimovski, V. Kiryakova, IMI-BAS, Sofia (1998), 473-475.
- [4] T. S t o y a n o v, About the zeros of some entire functions and their derivatives. *J. of Australian Math. Society, Ser. A*, **68** (2000), 165-169.

*Economic University*  
*Department of Mathematics*  
*77, bul. Knyaz Boris I*  
*Varna - 9002, BULGARIA*

*Received: 06.04.2000*

*e-mail: todstoyanov@yahoo.com*